KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION COMPLETION FORM TOWN OF WELL & LEASE WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 30/1/	API No. 15 - 195-22,480-0000
Name: DOWNING-NELSON OIL COMPANY, INC	County: TREGO
Address: PO BOX 372	<u>SW _ NW _ SW _ Sec. 35 _ Twp. 12 _ S. R. 22 East </u>
City/State/Zip: HAYS, KS 67601	1510 feet from S/ N (circle one) Line of Section
Purchaser:	130 feet from E / (W) (circle one) Line of Section
Operator Contact Person: RON'NELSON	Footages Calculated from Nearest Outside Section Corner:
Phone: (785) 261-2610	(circle one) NE SE NW
Contractor: Name: DISCOVERY DRILLING CO., INC.	Lease Name: SWS Unit Well #: 1-35
License: 31548	Field Name: OGALLAH
Wellsite Geologist: RON NELSON	Producing Formation: NONE
Designate Type of Completion:	Elevation: Ground: 2323 Kelly Bushing: 2331
New Well Re-Entry Workover	Total Depth: 4200 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 222.62 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt, DH-D\Q-I\I2 09
Well Name:	DH-D1g-1/12/01
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 16,000 ppm Fluid volume 300 bbls
Plug Back Potal Depth	Dewatering method used EVAPORATION
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
08/13/07 08/18/07 08/19/07 Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workon Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well. All requirements of the statutes, rules and regulations promulgated to regu	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
nerein are complete and correct to the best of my knowledge.	
Signature: Ha Baym	KCC Office Use ONLY
Fitle: VICE PRESIDENT Date: 08/30/07	Letter of Confidentiality Received
Subscribed and sworn to before me this 35 day of Lugust	, If Denied, Yes Date: RECEIVED
2067.	Wireline Log Receive ANSAS CORPORATION COMMISSION
Mind of mo.	Geologist Report Received SEP 0 4 2007
Notary Public: // While h / Llee	MICHELE L. MEIER UIC Distribution
Date Commission Expires: 7/28/09	STATE OF KANSAS WICHITA KS
	Ay Appt. Exp. 128/0

Operator Name: DOV	WNING-NELSON	OIL COM	PANY, INC	Lea	ase Name	SWS Unit		Well #: .1-	35
Sec. 35 Twp. 12	2 .S. R. 22	[] Ea	st 📝 West		unty: TRE				
INSTRUCTIONS: Sh tested, time tool open temperature, fluid rec Electric Wireline Logs	overy, and flow ra	tes if das to	o surface test	s, wnetner along wit				of drill stems	tests giving interval
Drill Stem Tests Taker (Attach Additional S		[<u>/</u>] \	∕es ∏No	Transference and annual section of the section of t		Log Forma	ation (Top), Depth	and Datum	Sample
Samples Sent to Geol	logical Survey		∕es ☑No		Nar	ne ANHYDRITE		Top	Datum
Cores Taken		Y	∕es ☑No		j	E ANHYDRITE	≣	1766 1813	+565 +519
Electric Log Run (Submit Copy)		 ✓ Y	′es		Ţ	EKA		3420	-1089
List All E. Logs Run:					HEE	BNER		3641	-1310
LIST AIR L. LOGS HUII.					TOR	ONTO		3660	-1346
Micro, Sonic, E	Dual Induction	n and C	Compensa	ited	LKC			3677	-1346
Density/Neutro	n		•		вкс			3917	-1586
	Constitution of the American State of the Constitution of the Cons				MAR	MATON		4022	-1691
		Dana		RECORD			***************************************	en de la companya de	
Purpose of String	Size Hole		rt all strings set-o		surface, into	ermediate, produ			The second secon
SURFACE	Drilled	Set	(In O.D.)	Lbs	s./Ft.	Depth	Type of Cement	# Sacks Used	Type and Percent Additives
SURFACE	12 1/4"	8 5/8"		20#		222.62	COMMON	150	2% Gel & 3% CC
	:								1
en e			ADDITIONAL	CEMENT	ING / SQL	EEZE RECORI	i		<u>.</u>
Purpose: Perforate Protect Casing	Depth Top Bottom	Type	of Cement	#Sack	s Used		Type and I	Percent Additives	
Plug Back TD Plug Off Zone	1 1							Manager Spirit S	
Shots Per Foot	PERFORATI	ON RECOR	D - Bridge Plug	s Sel/Type		Acid Fra	clure, Shot, Cemen	· C O	The state of the s
	Specify	Footage of E	ach Interval Perf	orated		(Ar	mount and Kind of Ma	squeeze Hecor	Depth
:						947 947 1 (1 1 1 2 3 3 4 4 4 4 4 4 4 4		erranderer gestaller og er skylereste i de er seg til sk	
	The second section of the second seco	THE THE SECOND CONTRACTOR OF						***************************************	
· · · · · · · · · · · · · · · · · · ·	THE RESERVE SERVERS A STATE OF THE PARTY SERVERS	······································	***************************************			······································		Mary transferance and the second	
TUBING RECORD	Size	Set At	- change and the face and the control of the contro	Packer A	At .	Liner Run	Yes No		
Date of First, Resumerd Pr	oduction, SWD or E	nlar.	Producing Metho		Flowing	Pumpin		Othe	r (Explain)
Estimated Production Per 24 Hours	Oil (Bbls.	Gas M	1cf	Water	Bt	ols. G	as-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C) OMPLETION			***************************************	Production Interv	ral		en e en again
Vented Sold (If vented, Submit	Used on Lease (ACO-18.)		Open Hole Other (Specify	Perf.	Du	ally Comp.	Commingled		



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Downing -Nelson Oil Co., Inc,. P. O. Box 372 Hays, KS 67601

Invoice Number: 109752

Invoice Date: Aug 23, 2007

Page:

1

Federal Tax I.

CustomerID	Well Name# or Customer P.O.	Paymen	t Terms
Down	SWS Unit #1-35	Net 30	Days
Sales Rep ID	Camp Location	Service Date	Due Date
	Russell	Aug 23, 2007	9/22/07

Quantity	ltem	Description	Unit Price	Amount
120.00 N	MAT	Common Class A	11.10	1,332.00
80.00 N	MAT	Pozmix	6.20	496.00
10.00 M	ЛАТ	Gel	16.65	166.50
50.00 N	TAN	Flo Seal	2.00	100.00
202.00 S	SER	Handling	1.90	383.80
50.00 S	SER	Mileage 202 sx @.09 per sk per mi	18.18	909.00
1.00 S	SER	Rotary Plug	815.00	815.00
50.00 S	SER	Mileage Pump Truck	6.00	300.00
1.00 E	EQP	Dry Hole Plug	35.00	35.00
			KANSAS	RECEIVED CORPORATION COMMISSION
				SEP 0 4 2007
			C	ONSERVATION DIVISION WICHITA, KS

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 453.73

ONLY IF PAID ON OR BEFORE

Sep 22, 2007

TOTAL	4,800.46
Payment/Credit Applied	
Total Invoice Amount	4,800.46
Sales Tax	263.16
Subtotal	4,537.30

24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

INVOICE

Invoice Number: 109636

Invoice Date: Aug 17, 2007

Page: 1

Bill To:

Downing -Nelson Oil Co., Inc, P. O. Box 372 Hays, KS 67601 Federal Tax I.D.#:

Customer ID	Well Name# or Customer P.O.	Payment	Terms	
Down	SWS Unit #1-35	Net 30 Days		
Sales Rep ID	Camp Location	Service Date	Due Date	
	Russell	Aug 17, 2007	9/16/07	

Quantity	Item	Description	Unit Price	Amount
150.00	MAT	Common Class A	11.10	1,665.00
3.00	MAT	Gel	16.65	49.95
5.00	MAT	Chloride	46.60	233.00
158.00	SER	Handling	1.90	300.20
50.00	SER	Mileage 158 sx @.09 per sk per mi	14.22	711.00
1.00	SER	Surface	815.00	815.00
50.00	SER	Mileage Pump Truck	6.00	300.00
1.00	EQP	Surface Plug	60.00	60.00
			_{KANS} AS COI SF	ECEIVED RPORATION COMMISSION EP 0 4 2007 SERVATION DIVISION WICHITA. KS
			_{KANS} AS COI SF	P 0 4 2007

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 413.41

ONLY IF PAID ON OR BEFORE

Sep 16, 2007

Subtotal	4,134.15
Sales Tax	116.46
Total Invoice Amount	4,250.61
Payment/Credit Applied	
TOTAL	4,250.61